Therefore the density function can be expressed as a mixture of densitieg

J(xy, 23, dy dy) = (f(2y, 22)(1 = Gi(2y))(1 — Go(xp)))

T'((&%(l — F(xy,72))(1 ~ Gl(-rl))gz(y,.,))d;(l-d,;_\

d

X(g—(1 = Fz, 2))(1 - Ga(x))gn (22))" "% (S(2y, 1)) 1 -d0)(0~da)
Ty

Asthe censoring times Yq i=1,--n;7=1,2arenotinformative, inth
function only the terms which give information will be included. So. the likel
for a given observation (x p X, d,d) willbe

e likelihoog
thood curye

0 :
l{xy,x2,dy,dy) - f(Il.Ia)de,})_-J;—l\] — F(zy, zq)) M- da)

X=—(1 = F(zy, 23))S(zy, o)}~ 1)(1-tha)
(91.‘3

Themostcommontypeoftruncationis left truncation. We can assume thattruncation
isnotrandom. Left truncation arises when individuals come underobservationonly some

known time after the natural origin ofthe eventunder study. So, ifthe individual fails |

before the study begins, thatindividual will not be recorded.

[fthere is left truncation we can use the same densit
individuals survive the truncation moment T*.

Py > 6,1y > to,dyydy | Ty > T\ Ty > T*) P(Ty>4H.T > ta,dy,do, Ty > T, Ty >T°)

f(_-l'| L9, dl : d_.-']
S, )

wherey, =7*?b . Here with b is denoted the tin

: 1cofbirth. Therefore the likelihood
curve for such amodel can be expressed as

T3, Tadyydp | T > T, Ty > 70y = W0 1o dyy dy)
Sy, y2)
In general, the loglikelihood function in this case canbec

alculated as follows:

L((Tu, Ta, Au,a),i =1, n) Zl“-‘i“'/'il.’f'm._\u,Am|T1>'T"772>T').
i=1 dae )
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